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Determinant and inverse matrix
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175X (determinant)

detd = |A| — 2(—1)i+jaij Ml]
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REF1T5 (adjoint matrix)
A = (D" My,
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a A = ]Rnxn B = Rnxn
|AB| = |A||B|  |aA| = a™|A|

© AcrRVOEHEZEL(I=1-nNETDE

Al = 2125+ Ay
|A] =0 (X A; # 0 (vi) &M

© 4er ‘g g = |A|ID — CA™B| (|A| # 0D & =)
D = Rmxm
= |D||A — BD~'C| (D] # 0D &)

ELICC = 0FETZIEB = 0DBE (TIFHESEA(IC

A B _|A 0] _
|O ol=17 pl=141D]

6 lggﬁli;i’: \I,, + BC| = |I,,, + CB|

ELIEm=1DEE, be R, ce RXIXT LT
|I,, + bc| =1+ ch
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2 -2 4 2
2 -1 6 3
B
3 2 12 19 DAEZZ K& K
-1 3 —4 4
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3 -2 12 12 3 -2 12 12| " “lo 1 6 1
-1 3 -4 4 -1 3 -4 4 0O 2 -2 5§
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([ Ax =1 (FFEXA=1) &BBETESTIIXE A
ADFLTH] (inverse matrix) &L\, A71EEL,

[EEA TN ETIRVTIICDWTCEITER TED.
2-1 = adj A
det A

0 AER™ BeR™™ |Al#0 |B|#0
(AB)~! = B~14-1
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e AERY™ BeR™M CeR™M" |A|#0 D&EE
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